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Area of frapezinm = % (a+b)h

Formula List

A

Y

K

Volume of prism = area of cross-section X length
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I. {(a)} Complete the following bili.

Total

Item Cost
4 CDs costing £9.98 each £ 349.42 V’/
3 ink cartridges at £21.55 each £ (.»Z_i;_‘ S L//
5 packets of paper at £3.67 per packet £ 18-3% V"/
Z {
//

£|’7_2-Cil,2/

(b) A bag of sand costs £2.56. How many full bags of sand can be bought for £40?
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2.  (a) Draw lines connecting each of the following shapes to its correct name. One line has been
drawn for you.

(4]

Rhombus

Isosceles triangle

Y

Kite

Trapézium

Rectangle

7 Parallelogpim

Pentagon

Square

Hexagon

{185-02}

Examiner
only
Arholwr
yn unig




(b) Using the following list of words, write down the correct name for each of the straight
lines drawn on the following diagrams.
[3]

Radius Circumference Arc Diameter Chord Tangent

00

N
e
5)

(1es-0m Turn over.

Examiner
only
Arholwr
yn unig




3 (a)

Which of the above lettered nets is

(1) thenet of a cube,

(ii) the net of a triangular prism?

(185-02)

(2]

Examiner
enly
Arholwr
yrounig




(b)

(1B502)

Which pair of the following shapes are congruent?

The congruent shapes are ...

Y SEnann.

Pobo

A
A
L

{1]

Tuarn over.
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4. (a)

(b)

(c)

(18509

mm"“ﬂ\w@tcifcﬁcﬂgfvvf

Write in words the number 7904, @Qd

(i) Shade 25% of the following figure.

A

£

A\

(i) What fraction of the following shape is shaded?

L
2]

The numbers 7, 5, 3 and 8 are printed on four cards.

7 S 3 8

Arrange the cards to make

the largest four digit number, Cg 7 g 3

the smallest four digit number. ?J S 7 8

[2]
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5. The number of children visiting a museum each day for one week is shown in the following table,

Day

Monday

Tuesday

Wednesday

Thursday

Friday

Number of
children

200

300

150

225

175

Draw a pictogram to illustrate the data given in the above table using the symbol

@ to represent 100 children.

Monday

Tuesday

Wednesday

Thursday

Friday

(185:02)
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(185-:02)

(a)

(b)

...................................... B ACA 12

10

The symbol # is used to make the following patterns.

P PP PYYVPYPVY
PPPY PYYVYY PYPVPVYPVPY
PYPVPPY PYPPVPVYPY PIPVPIVYVYOYY
1st pattern 2nd pattern 3rd pattern

How many of the 9 symbols will be needed to draw the 4th pattern?

A S

2]

When a number is divided by 6 and then 3 is taken away from the result, the answer is 8.
What is the number?

Examiner
only
Arhobwr
¥ unig




(185-02)

(c)

11

On the graph paper below plot the points P(-3, -5) and Q(-4, 3).

- EN

W

A 4

Turn over.
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(i)
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Write down the coordinates of the point D so that ABCD is a parallelogram.

Coordinates of Dare ( 2. , & )

[3]
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(a)

(b)

13

Using the probability scale below mark the points A, B and C where
A is the probability that there will be snow on the top of Mount Everest in December,
B is the probability that the score will be 3 when an ordinary dice is rolled.

C is the probability that every pupil in your class will have a birthday tomorrow.

YAl |
IS g

PRTE

[3]

A shopkeeper recorded the number of magazines sold each week for 12 successive weeks.
The result was:

12
Calculate the mean number of magazines sold each week.

N ST
) ==,

13

Turn over.
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(185-02)

(a}

(b)

i4

Gns and wns
for sale

5
% Ma*
%‘h WW

LT
R e s

In a car boot sale, Derek bought 27 CDs and 9 DVDs,
The total cost was £149.40.
Each CD cost £3.75.

Find the cost of each DVD. )

RGO lelas = ERBIS

Roberta buys a table and four chairs,
The marked price for all the items is £650.
By how much will the price be reduzjzd when the shop gives a discount of 129%7

18]

G0

A L= v 2 - N

e
e,

R

[2]

Examiner
only
Arholwr
yn unig




9. (a)

(b)

(c)

(185-02)

(ii) Find the value of

15

The secretary of a club has 450 books of raffle tickets.

The books are shared equally between the 32 members of the club.

How many books does each member receive and how many books will be left?

lexds=
Each member is given [l,{- books.

The secretary has 2

(i) Find V361 .

... books left.

T S 3" &

e bavks ..

L
082 °

B

(iii)  Find the value of 2% x 3%,

O A
X

(iv)  Write 47563 correct to two decimal places.

L

Carl has £500.
He saves % of the £500 and spends %of the £500.

What fraction of the £500 does Carl have lefi?

"_%%,L
-

\ef&

Turn over,
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The following table shows how many American dollars a bank will give for various sums of

16

10. (a)
money in pounds.
Pounds (£) 10 30 40 50
American
dollars ($) 18 54 72 90
(i) Use the table and the graph paper below, to draw a conversion graph to change
pounds into American dollars.
4
o T : .
o o i ray
L ; o 4
%o - -
- e
e > i
éo = 7
= e :
g g s : ;/ :
w H iy
ek
A
4 :
A
e )
/S ;
1o , T
pd :'
< :
s 5 ‘
f iE AU RO MUS I M SO O A 0 4
’ ! e
O o 1o 3o ©wo 50

{185-02)

(i) Use your graph to convert

24 pounds into doflars i@“?—

[4]

Examiner
only
Arholwr
yn unig




(b)

17

By road, Cardiff is 100 miles from Birmingham. The graph below shows Christopher’s
journey by car from Birmingham to Cardiff.

Distance in miles

3

Birmingham

70 i+ = S

b 1Y

’J)::
fo- A

60 -ty

S04

§

40 -

30

{185-02)
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o
o
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How far did Christopher travel in the first 45 minutes?

What is the total time that Christopher was at rest?

9.30 160.00 10.30 1100 11.30

A 4

i2.00

oIS miay e A e ASmia

How far from Cardiff was Christopher at 11.45?

)

Tarn over.
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11. (a) The diagram below is a scale drawing of a large field.
AB is a side of the field with B due east of A.
A telephone mast is located at the point 7.

o
(1) Find the bearing of T from A. Ogg

(it)  Find the actual distance of the telephone mast T'from B.

I £ 2Ty W A & Yo N

D)

(185-02)
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(b) 7

A pylon is to be built at a point P.
The bearing of P from A is 042°, and the bearing of P from B is 307°.
Find the position of P on the above diagram.

{185-02)

[3]
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12. (aj

(b)

(185-02)
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Jenny changed £450 into Egyptian pounds when the exchange rate was £1 = 9.8 Egyptian
pounds.
How many Egyptian pounds did Jenny receive?

e SO X BGS

G440 P

While in Egypt, Jenny bought a camera. The camera cost 627.2 Egyptian pounds.
Using the same exchange rate as in part (a), calculate the cost of the camera in £.

12
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13.

{185-02)

21

(a)

Diagram not drawn to scale.

Find the size of the angles marked x and y in the above diagram.

(b) Calculate the size of each interior angle of a regular eight-sided polygon.

Bach ExlEice = 360 = LB

Tuorn over.
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14. (a)

3x

2x+5

The length of a rectangle is 2x + 5 cm.
The breadth of the rectangle is 3x cm.
Find the perimeter of the rectangle in terms of x, giving your answer in its simplest form.

BatBx 4 laxS 4 xS

{b) Solve 8x+4=7—-4x.
L e Ko <A

- S

oy

T | S
(¢} Solve 5(2x — 3) = 50.

5810 St e e X &

L S N

13

(d) Factorise 2x? - 6x.

HWWZ%(&:é)mmmmmwwmwmmmwwmwmmwww

(185-02)
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15. A ladder, ST, of length 6:3 m rests against a vertical wall. The foot of the ladder § is on horizontal

ground, 3-7 m from the base of the wall.
Calculate the height, TR, of the top of the ladder above the ground, giving your answer to an

appropriate degree of accuracy.

R 37m S

2

b3 - a7t TR

3=z + TR

2.

S TR
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16. The heights of 80 people were measured to the nearest centimetre. The table below shows a
grouped frequency distribution of the heights.

Height (7 centimetres) Mib Number of people

151 < h < 157 1Sk 18

4

158 < h < 164 o | 37

h
h

N[ A

165 = 171 I % 25

Find an estimate for the mean height of these people.
(exis) 3 Grxied « bsxis)

B

e 2T A SAST #8200
B e

:(’2012%
‘“’”"““‘“%o

B T T A

0o

(185-02)
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17. (a} Calculate the area of a semicircle with a diameter of 12-8 cm.

[2-8cm

A hex eexbl o 6h31n’

(b) Calculate the volume of a prism with an area of cross-section 2-5 cm” and length 1-6m,
giving your answer in cm>.

1-6m

i

ASxlexloo
Ve k00’

B3]

{185:0%)
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